

## PROPERTY DETAILS REPORT

St. Louis County, Minnesota



Date of Report: 5/8/2025 4:02:07 PM

-				General De	etails				
Parcel ID:	415-0010	-07100							
			Leg	gal Descripti	on Details				
Plat Name:	LAKEWO	DOD							
See	ction	Towns	ship	I	Range		Lot		Block
:	28	51		13			-		-
Description:	N1/2 OF EX S1/2			X S1/2 OF S1/2	AND THAT PAR	T OF N1	I/2 OF SE	1/4 OF NE1/4 LYI	NG W OF ROAD
				Taxpayer D	etails				
Taxpayer Nam			ER A & EDI	TH					
and Address:	5035 LES								
	DULUTH	MN 558	304						
				Owner De	tails				
Owner Name	MICHALS	SKI ROG	ER A ETAL						
			Paya	able 2025 Ta	x Summary				
	2025	- Net Ta	x				\$6,365.00		
	2025	- Specia	I Assessme	nts			\$29.00		
	202	5 - Tota	al Tax & S	Tax & Special Assessments \$6,394.00					
			Curren	it Tax Due (a	s of 5/7/2025	5)			
	Due May 15		Due October 15 Total Due					9	
2025 - 1st Ha	alf Tax \$3,19	97.00	2025 - 2nd Half Tax \$3,197.00			97.00	2025 - 1st Half Tax Due \$3,197.00		
2025 - 1st Ha	alf Tax Paid	60.00	2025 - 2nd Half Tax Paid		5	\$0.00	2025 - 2	2nd Half Tax Due	\$3,197.00
2025 - 1st Ha	alf Due \$3,19	97.00	2025 - 2nd Half Due		\$3,19	197.00 2025 - T		Fotal Due	\$6,394.00
				Parcel De	tails				
Property Addr	ess: 5035 LES		VER RD, DL						
School Distric			,						
Tax Increment	District: -								
Property/Home	esteader: MICHALS	SKI, ROG	GER A & ED	ITH M					
		As	ssessmei	nt Details (20	025 Payable	2026)			
Class Code ( <mark>Legend</mark> )			Land EMV	Bldg EMV	Total EMV		Land MV	Def Bldg EMV	Net Tax Capacity
201	201 1 - Owner Homestead (100.00% total)		110,300	\$446,400	\$556,700		\$0	\$0	-
111 0 - Non Homestead		\$	\$35,100	\$0	\$35,100		\$0	\$0	-
Total:		al: \$	145,400	\$446,400	\$591,800		\$0	\$0	5785



## **PROPERTY DETAILS REPORT**

St. Louis County, Minnesota



Land Details											
Deed	ded Acres:	19.00									
Wate	erfront:	-									
Wate	er Front Feet:	0.00									
Wate	er Code & Desc:	W - DRILLED WE	LL								
Gas	Code & Desc:	-									
Sew	er Code & Desc:	S - ON-SITE SAN	ITARY SYSTE	EM							
Lot \	Width:	0.00									
Lot I	Depth:	0.00									
The https	The dimensions shown are not guaranteed to be survey quality. Additional lot information can be found at https://apps.stlouiscountymn.gov/webPlatsIframe/frmPlatStatPopUp.aspx. If there are any questions, please email PropertyTax@stlouiscountymn.gov.										
	Improvement 1 Details (RES)										
L.	mprovement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.				
	HOUSE	1982	2,20	)8	2,832	AVG Quality / 900 Ft <sup>2</sup>	1S+ - 1+ STORY				
ĺ	Segment	Story	Width	Length	Area	Foundati	on				
	BAS	1	12	18	216	BASEMENT WITH EXTE	RIOR ENTRANCE				
	BAS	1	12	22	264	FOUNDAT	ION				
	BAS	1.5	0	0	720	BASEMENT WITH EXTE	RIOR ENTRANCE				
	BAS	2	12	22	264	BASEMENT WITH EXTE	RIOR ENTRANCE				
	CW	1	10	14	140	PIERS AND FC	OTINGS				
	DK	1	0	0	116	POST ON GR	ROUND				
	DK	1	0	0	226	PIERS AND FOOTINGS					
	DK	1	0	0	492	PIERS AND FC	OTINGS				
	DK	1	6	14	84	POST ON GR	ROUND				
	DK		6	30	180	POST ON GROUND					
OP		1	16	18	288	PIERS AND FO	OTINGS				
l	Bath Count	Bedroom Cou	nt	Room C	ount	Fireplace Count	HVAC				
2.25 BATHS		3 BEDROOM	AS -			-	CENTRAL, ELECTRIC				
	Improvement 2 Details (BUILT-IN)										
	mprovement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.				
	GARAGE	1982	744			- ATTACHEI					
ſ	Segment	Story	Width	Length	Area	Foundati	-				
	BAS	1	0	0	744	FOUNDAT					
l	Improvement 3 Details (DETACHED)										
-	mprovement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.				
"	GARAGE	1982		672			DETACHED				
[	Segment	Story	Width	- Length	1,008 Area	Foundati					
BAS		1.5	24	28	672	FLOATING					
	Improvement 4 Details (SLP)										
Improvement Type Year Built Main Floor Ft <sup>2</sup> Gross Area Ft <sup>2</sup> Baseme							Style Code & Desc.				
"	SLEEPER	2008	240		264	-	-				
ĺ	Segment	Story	Width	Length	Area	Foundati	on				
	BAS	.5	2	•		CANTILEVER					
BAS .5 BAS 1.5				10	144	FLOATING SLAB					
l	BAO	1.0	12	14	177	i EoAtino -					



St. Louis County, Minnesota



		Improveme	nt 5 Details	(WOOD SHE	D)			
Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup> Gro	oss Area Ft <sup>2</sup>	Basement Finish	Style C	ode & Desc.	
LEAN TO 1985		144	1	144	-		-	
Segment Story		Width Length		Area	Found	ation		
BAS	1	12	12	144	FLOATIN	G SLAB		
		Improveme	nt 6 Details	(WOOD SHE	D)			
Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup> Gro	oss Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style C	ode & Desc.	
LEAN TO	1985	200	)	200	-			
Segment	-	Width Lengtl		Area	Foundation			
BAS	1	10	20	200	POST ON	GROUND		
		-		(BACK YAR	•			
Improvement Type	Year Built	Main Flo		oss Area Ft <sup>2</sup>	Basement Finish	-	ode & Desc	
	2008	108		108			BRICK	
Segment	-	Width	Length	Area	Found	Foundation		
BAS	0	9	12	108	-			
		-		ils (1/2 LOG)				
Improvement Type	Year Built	Main Flo		oss Area Ft <sup>2</sup>	Basement Finish	Style C	ode & Desc	
STORAGE BUILDING		108	-	108	-	- 4	-	
Segment	-	Width	Length	Area	Found POST ON (			
BAS	1	9	12	108	POSTON	JROUND		
		•	vement 9 De	. ,				
Improvement Type	Year Built	Main Flo		oss Area Ft <sup>2</sup>	Basement Finish	Style C	ode & Desc	
POLE BUILDING	1994	1,94		1,944			-	
BAS	•	Width 36	Length 54	Area	Found POST ON (		-	
BAS	1			1,944				
	Sa	ales Reported	to the St. Lo	ouis County /	Auditor			
	Date		Purchase Pri	ce	CF	V Number		
09/*	1992		\$155,000	•		87048		
	•	As	sessment H	istory	- <i>i</i>	<b>.</b> .		
Year	Class Code ( <mark>Legend</mark> )	Land EMV	Bldg EMV	Tot EM		Def Bldg EMV	Net Tax Capacity	
	201	\$110,300	\$438,900			\$0	-	
2024 Payable 2025	111	\$35,100	\$0	\$35,		\$0	-	
	Total	\$145,400	\$438,900	\$584,	,300 \$0	\$0	5,691.00	
	201	\$114,000	\$450,700	\$564,	700 \$0	\$0	-	
2023 Payable 2024	111	\$31,400	\$0	\$31,4		\$0	-	
	Total	\$145,400	\$450,700	\$596,	,100 \$0	\$0	5,848.00	
	201	\$108,800	\$450,700			\$0	-	
	111	\$29,800	\$0	\$29,8		\$0	-	
2022 Pavable 2023							5,767.00	
2022 Payable 2023	Total	\$138,600	\$450,700	\$589,	,300 \$0	\$0	3,707.00	
2022 Payable 2023	<b>Total</b> 201	<b>\$138,600</b> \$111,100	\$450,700 \$404,200			<b>\$0</b> \$0	-	



St. Louis County, Minnesota



	Tax Detail History										
Tax Year	Тах	Special Assessments	Total Tax & Special Assessments	Taxable Land MV	Taxable Building MV	Total Taxable MV					
2024	\$6,439.00	\$25.00	\$6,464.00	\$145,400	\$450,700	\$596,100					
2023	\$6,751.00	\$25.00	\$6,776.00	\$138,600	\$450,700	\$589,300					
2022	\$6,513.00	\$25.00	\$6,538.00	\$111,100	\$404,200	\$515,300					

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.